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DUBEN
BRNO I

6.4.
8:30 BK Jiří Gruber

10:00 ČK Jiří Gruber
skautská neděle, sborový oběd

14:15 Rch Jiří Gruber
19:30 ČK Štěpán Hájek

13.4. květná neděle
8:30 BK Olga Tydlitátová

10:00 ČK Olga Tydlitátová
19:00 ČK Ulrich Kriesel

17.4. zelený čtvrtek

19:00 ČKVP
zpívá sbor Kůrovec

18.4. velký pátek
9:00 BK O.Tydlitátová VP

16 :00 Rch O.Tydlitátová VP
19 :00 ČK O.Tydlitátová VP
zpívá sbor Cantate Domino

20.4. Hod Boží
8:30 BK Jiří Gruber VP

10:00 ČK Jiří Gruber VP
14:15 Rch Jiří Gruber VP

21.4. Velikonočnípondělí
9:00 BK Jan Pokorný

27.4.
8:30 BK Olga Tydlitátová

10:00 ČK Olga Tydlitátov á

LEGENDA
BK Betlémský kostel
ČK Červený kostel
Rch Rychmanov

BRNO II

9:00 BD
10:00 Kuř Ctirad Novák
13:45 Tiš Jaroslav Vítek

9:00 BD Jaroslav Vítek

19 :00 BD Jaroslav Vítek VP
zpívá sbor Cantate Domino

9:00 BD Jaroslav Vítek VP
18:00 Tiš Jaroslav Vítek VP
19:00 BD

9 :00 BD Jaroslav Vítek VP
10.00 Kuř VP
13 :45 Tiš Jaroslav Vítek VP

9 :00 BD

9 :00 BD
9 :45 Tiš

BD Blahoslavův dům

Kuř Kuřim

Tiš Tišnov




